
答え：

① － ② =

②

答え：

① － ② =

2

2× 2× 3.14 ÷ 2

日にち：　　　月　　　日

名まえ

・色をぬった部分の面積を求めましょう。(うすい字はなぞりましょう)

①

5× 5× 3.14 ÷

⑦ 定着

７

２cm５cm

式①：

式②：

式①：

式②：10cm1cm



= 34.54 答え： 34.54

)× 3.14

= × 3.14

)× 3.14

= ( －

= ( 6× 6－ 5× 5

5× 5× 3.146×

5× 5× 3.14

②

6× 6× 3.14

3.14 －① － ② = 6×

= × 1.57

= 32.97

= ( － )× 1.57

)× 3.14 ÷ 2

答え： 32.97

2

= ( 5× 5－ 2× 2

2× 2× 3.14 ÷5× 3.14 ÷ 2 －① － ② = 5×

2

2× 2× 3.14 ÷ 2

日にち：　　　月　　　日

名まえ

・色をぬった部分の面積を求めましょう。(うすい字はなぞりましょう)

①

5× 5× 3.14 ÷

⑦ 定着 答え

７

２cm５cm

式①：

式②：

式①：

式②：

㎠

25

21

㎠

36

11

10cm1cm

25

4


